Queue. Pop

package nai

inmport (
"t
"tinme"

"gi t hub. com gogf/ gf/v2/ os/gtiner"
" gi t hub. cont gogf/ gf / v2/ cont ai ner/ gqueue

)

n

func main() {
g : = gqueue. New()

/11

gtinmer.Setlnterval (time. Second,
v := gtime.Now().String()

fmt.Println("Push:", v)

gtimer. Set Ti meout (3*ti ne. Second,

v :=q.Pop(); v !=nil {
fmt.Printin(" Pop:", v)

2021-09-07 14:03:00
2021-09-07 14:03: 00
2021-09-07 14:03:01

g. Push(v)
b
/113
g. G ose()
b
11
for {
if
} else {
br eak
}
}
/1 32
/1 Qutput:
/'l Push:
/'l Pop:
/'l Push:
/1 Pop:

Queue. C

2021-09-07 14:03:01

func() {

func() {
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package main

inmport (
"context"
"t
"tinme"

_ "github. conl gogf/gf/contrib/drivers/nysql/v2"
"gi t hub. conml gogf/ gf / v2/ cont ai ner/ gqueue"

"gi t hub. conf gogf/ gf / v2/ os/ gct x"

" gi t hub. conf gogf/ gf/v2/ os/gtine"

"gi thub. com gogf/gf/v2/os/gtimer"

func main() {
queue : = gqueue. New()
gtimer. AddTi mes(gctx. GetlnitCtx(), tine.Second, 3, func(ctx
cont ext. Context) {
queue. Push(gtime. Now(). String())

}
for {
sel ect {
case queueltem:= <-queue.C
frmt.Println(queueltemn
case <-tinme.After(3 * tine.Second):
fm.PrintIn("tineout, exit |oop")
return
}
}

package main

inmport (
"t
“time"
"gi t hub. conf gogf/ gf/v2/ os/gtiner"
"gi t hub. comf gogf/ gf / v2/ cont ai ner/ gqueue"

)

func main() {
q : = gqueue. New()

for i :=0; i < 10; i++ {
q. Push(i)
}

fnt.Println(qg.Pop())
fnt.Println(qg.Pop())
frt.Println(g.Pop())

/1 Qutput:
/10
/111
Il 2



package main

inmport (
p
“time"
"gi t hub. conf gogf/ gf/v2/ os/gtiner"
"gi t hub. comf gogf/ gf/ v2/ cont ai ner/ gqueue"

)

func main() {
q : = gqueue. New()

q. Push(1)
g. Push(2)

fm.Println(qg.Len())
/1 sizelen
fm.Println(qg.Size())

/1 May Qutput:
112
112

package main

inmport (
p
“time"
"gi t hub. conf gogf/ gf/v2/ os/gtiner"
"gi t hub. comf gogf/ gf / v2/ cont ai ner/ gqueue"

)

func main() {
q : = gqueue. New()

for i :=0; i < 10; i++ {
q. Push(i)
}

frt.Println(g.Pop())
q. d ose()

fm.Println(qg. Pop())
frt.Println(g.Len())

/1 Qutput:
/1 0
/Il <nil>
/1 0
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